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Use the place value blocks to solve:
	
1. 20+6 = _______
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2.  35+5= _______

[image: ][image: ][image: ]   [image: ][image: ][image: ][image: ][image: ]

                 [image: ][image: ][image: ][image: ]    
                
	
3.  38+5=_______
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4.  42+9=________
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5.  19+6= _______
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6.  32+7=_______
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7.  49+7=________
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8.  45+9=_________
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9.  93+7=_____
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KEY
Use the place value blocks to solve:
	
2. 20+6 = 26

[image: ][image: ]    [image: ][image: ][image: ][image: ][image: ]
               [image: ]

       
	
2.  35+5= 40
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3.  38+5=43
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4.  42+9=51
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5.  19+6= 25
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6.  32+7=39
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7.  49+7=56
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8.  45+9=54
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9.  93+7=100
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